

# Price Information - July 2024

This document outlines the prices of our main products.

We have also included a helpful guide to assist you in making your purchasing decisions, as our products are available in various formats. For further information, please visit our website or contact us directly.

### RRP

The recommended retail price for the product.

#### **Trade Pack Prices**

Our trade packs are the perfect option for stocking and reselling the products. Unless specified, each pack contains 24 units.

#### **Manufacturers Pack Prices**

Purchase our Manufacturers Packs to create products for resale. These packs economically contain all the necessary components, conveniently packed into one box, ensuring you have everything you need for successful production.

#### **Workshop Pack Prices**

Designed for schools, craft workshops, and social groups, our workshop packs conveniently contain everything your students need in one box.

## **Special Offers**

Please take advantage of our exclusive offers to kick-start your business; whether you're a trade customer, a manufacturer, or someone who wants to run a workshop. We have special deals available to get you started.

Kits	RRP		Trade	Pack	Manufacturers Pack			Workshop Pack		
Drum Style	Gross	Nett	24 Units	Each		Units	Each		Units	Each
15cm Drum Lampshade Making Kit	£11.50	£9.58	£115.00	£4.79	£199.65	50	£3.99	£227.60	50	£4.55
20cm Drum Lampshade Making Kit	£12.50	£10.42	£125.04	£5.21	£217.08	50	£4.34	£247.48	50	£4.95
25cm Drum Lampshade Making Kit	£14.99	£12.49	£149.88	£6.25	£156.13	30	£5.20	£177.98	30	£5.93
30cm Drum Lampshade Making Kit	£16.99	£14.16	£169.92	£7.08	£177.00	30	£5.90	£201.78	30	£6.73
35cm Drum Lampshade Making Kit	£19.50	£16.25	£195.00	£8.13	£203.13	30	£6.77	£231.56	30	£7.72
40cm Drum Lampshade Making Kit	£22.99	£19.16	£229.92	£9.58	£239.50	30	£7.98	£273.03	30	£9.10
45cm Drum Lampshade Making Kit	£27.50	£22.92	£275.04	£11.46	£286.50	30	£9.55	£326.61	30	£10.89
70cm Drum Lampshade Making Kit	£52.99	£44.14	£529.68	£22.07	£551.75	30	£18.39	£629.00	30	£20.97
Rectangle (Rounded) Style										
20cm x 10cm Rectangle Lampshade Making Kit	£12.99	£10.83	£129.90	£5.41	£225.52	50	£4.51			
30cm x 15cm Rectangle Lampshade Making Kit	£17.50	£14.58	£175.00	£7.29	£182.29	30	£6.08			
40cm x 20cm Rectangle Lampshade Making Kit	£19.99	£16.66	£199.90	£8.33	<b>£208.23</b>	30	£6.94			
Square (Rounded) Style										
20cm Square Lampshade Making Kit	£13.99	£11.66	£139.90	£5.83	£242.88	50	£4.86			
30cm Square Lampshade Making Kit	£19.99	£16.66	£199.90	£8.33	£208.23	30	£6.94			
40cm Square Lampshade Making Kit	£21.99	£18.33	£219.90	£9.16	£229.06	30	£7.64			
Oval Style										
20cm Oval Lampshade Making Kit	£14.99	£12.49	£149.90	£6.25	<b>£260.24</b>	50	£5.20			
30cm Oval Lampshade Making Kit	£19.50	£16.25	£195.00	£8.13	£203.13	30	£6.77			
40cm Oval Lampshade Making Kit	<b>£25.50</b>	£21.25	£255.00	£10.63	£265.63	30	£8.85			
Hexagon Style										
15cm Hexagon Lampshade Making Kit	£12.99	£10.83	£129.90	£5.41	£225.52	50	£4.51			
20cm Hexagon Lampshade Making Kit	£14.99	£12.49	£149.90	£6.25	£260.24	50	£5.20			
30cm Hexagon Lampshade Making Kit	£19.50	£16.25	£195.00	£8.13	£203.13	30	£6.77			
40cm Hexagon Lampshade Making Kit	£24.50	£20.42	£245.00	£10.21	£255.21	30	£8.51			
Conical Style										
25cm Conical Lampshade Making Kit	£17.99	£14.99	£179.90	£7.50	£187.40	30	£6.25			
30cm Conical Lampshade Making Kit	£19.99	£16.66	£199.90	£8.33	£208.23	30	£6.94			
45cm Conical Lampshade Making Kit	£24.99	£20.83	£249.90	£10.41	£260.31	30	£8.68			
50cm Conical Lampshade Making Kit	£34.99	£29.16	£349.90	£14.58	£364.48	30	£12.15			

Kits	RRP		Trade	Pack	Manufacturers Pack		Wor	Workshop Pack		
Empire / French Drum Style	Gross	Nett	24 Units	Each		Units	Each		Units	Each
25cm Empire Lampshade Making Kit	£15.99	£13.33	£159.90	£6.66	£166.56	30	£5.55			
30cm Empire Lampshade Making Kit	£17.99	£14.99	£179.90	£7.50	£187.40	30	£6.25			
35cm Empire Lampshade Making Kit	£20.99	£17.49	£209.90	£8.75	£218.65	30	£7.29			
40cm Empire Lampshade Making Kit	£24.99	£20.83	£249.90	£10.41	£260.31	30	£8.68			
Candle Style with Bulb Clip										
Candle Clip Lampshade Making Kit 2 PACK	£15.98	£13.32	£159.80	£6.66	£138.72	50	£2.77			
Tiered Lampshade Making Kit										
30cm / 20cm Tiered Lampshade Making Kit	£26.99	£22.49	£269.90	£11.25						
40cm / 30cm Tiered Lampshade Making Kit	£31.99	£26.66	£319.90	£13.33						
US (1/2") Washer Fitting Lampshade Drum Kits										
20cm Drum US Washer Fitting Lampshade Kit	£12.98	£10.82	£129.80	£5.41						
30cm Drum US Washer Fitting Lampshade Kit	£16.99	£14.16	£169.90	£7.08						
40cm Drum US Washer Fitting Lampshade Kit	£23.50	£19.58	£235.00	£9.79						
45cm Drum US Washer Fitting Lampshade Kit	£27.50	£22.92	£275.00	£11.46						
Make & Paint Drum Lampshade Kits										
20cm Drum Lampshade Making Kit	£14.99	£12.49	£149.90	£6.25	£260.24	50	£5.20	£296.68	50	£5.93
30cm Drum Lampshade Making Kit	£18.98	£15.82	£189.80	£7.91	£197.71	30	£6.59	£225.39	30	£7.51
Table & Floor Lamp										
DIY Floor Lamp Kit - Tall Cylinder 200mm	£24.98	£20.82	£249.80	£10.41	£260.21	30	£8.67			
DIY Table Lamp Kit - Tall Cylinder 150mm	£15.98	£13.32	£159.80	£6.66	£166.46	30	£5.55			
Lamp Base Making Kits										
15cm x 35cm High - Lamp Base Making Kit	£15.95	£13.29	£159.50	£6.65	£276.91	50	£5.54			
20cm x 100cm High - Floor Base Making Kit	<b>£26.45</b>	£22.04	£264.50	£11.02	£275.52	30	£9.18			
30cm x 130cm High - Floor Base Making Kit	£52.96	£44.13	£529.60	£22.07	£275.83	15	£18.39			

# **Special Offers**

If you are interested in selling our popular kits, manufacturing your own range of lampshade products, or hosting a workshop, take advantage of our special offers below to get started and save money.

	Cost	20%, saving	Start-Up Price.
Retailers Start-Up Package - Drum Lampshade Kits - 20cm, 30cm & 40cm Trade Packs	£524.88	£104.98	£419.90
Manufacturers Start-Up Package / Business in Box – Drum Lampshade Kits 20cm, 30cm & 40cm	£633.58	£126.72	£506.86
Workshop Lampshade Start-Up Package - 30cm Drum Lampshades Workshop Pack & 24 x 30cm Kits	£371.70	£ 74.34	£297.36

Other Kits	RRP		Trade Pack		Manufacturers Pack			Workshop Pack		
	Gross	Nett	24 Units	Each		Units	Each		Units	Each
Clock Making Kit - Round - 30cm	£18.98	£15.82	£189.80	£7.91	£197.71	30	£6.59	£225.39	30	£7.51
Clock Making Kit - Square - 30cm	£18.98	£15.82	£189.80	£7.91	£197.71	30	£6.59	£225.39	30	£7.51
Bin Making Kit - Round - 30cm	£17.99	£14.99	£179.90	£7.50	£187.40	30	£6.25	£213.63	30	£7.12
Bin Making Kit - Square - 30cm	£17.99	£14.99	£179.90	£7.50	£187.40	30	£6.25	£213.63	30	£7.12
	Gross	Nett	28 Units	Each		Units	Each		Units	Each
Lantern Making Kit - 4 Pack & LED Tea Lights	£21.49	£17.91	£250.72	£8.95	£208.93	100	£2.09	£208.93	100	£2.09

Self-Adhesive Lampshade Material - Retail Pack	RRP		Trade	Pack
	Gross	Nett	16 Units	Each
Stick-It <sup>®</sup> - Roll-White - 1460mm x 500mm	£12.98	£10.82	£86.53	£5.41
Stick-It ®- Roll-Clear - 1460mm x 500mm	£12.98	£10.82	£86.53	£5.41
Stick-It <sup>®</sup> - Roll-Extra Rigid White - 1460mm x 500mm	£13.98	£11.65	£93.20	£5.83
Stick-It <sup>®</sup> - Roll-Double Sided White - 1460mm x 500mm	£20.99	£17.49	£139.93	£8.75
Stick-It <sup>®</sup> - Roll-Embossed -Champagne - 1460mm x 500mm	£19.99	£16.66	£133.27	£8.33
Stick-It <sup>®</sup> - Roll-Embossed -Bronze - 1460mm x 500mm	£19.99	£16.66	£133.27	£8.33
Stick-It <sup>®</sup> - Roll-Embossed -Gold - 1460mm x 500mm	£19.99	£16.66	£133.27	£8.33
Stick-It <sup>®</sup> - Roll-Embossed -Silver - 1460mm x 500mm	£19.99	£16.66	£133.27	£8.33

Self-Adhesive Lamp	oshade Material - Trade Roll						Metre Price	
Standard	Туре	Colour	Mtr	Width	Gross	Nett	Gross	Nett
Stick-It ®	Standard	White	25	150cm	£251.95	£209.96	£10.08	£8.40
Stick-It ®	Standard	Clear	25	150cm	£251.95	£209.96	£10.08	£8.40
Premium								
Stick-It ®	Less-Rigid	White	25	150cm	£238.99	£199.16	£9.56	£7.97
Stick-It ®	Extra-Rigid	White	25	150cm	£333.46	£277.88	£13.34	£11.12
Stick-It ®	Double-Sided	White	25	145cm	£454.45	£378.71	£18.18	£15.15
Stick-It ®	Double-Sided	Clear	25	145cm	£454.45	£378.71	£18.18	£15.15
Stick-It ®	Glass Clear	Transparent	10	120cm	£143.45	£119.54	£14.35	£11.95
Stick-It ®	Board	White	25	150cm	£375.95	£313.29	£15.04	£12.53
Metallic Embossed								
Stick-It ®	Embossed	Champagne	25	150cm	£522.46	£435.38	£20.90	£17.42
Stick-It ®	Embossed	Bronze	25	150cm	£522.46	£435.38	£20.90	£17.42
Stick-It ®	Embossed	Gold	25	150cm	£522.46	£435.38	£20.90	£17.42
Stick-It ®	Embossed	Silver	25	150cm	£522.46	£435.38	£20.90	£17.42
Metallic Brushed								
Stick-It ®	Brushed	Copper	25	120cm	£873.95	£728.29	£34.96	£29.13
Stick-It ®	Brushed	Gold	25	120cm	£873.95	£728.29	£34.96	£29.13
Stick-It ®	Brushed	Silver	25	120cm	£873.95	£728.29	£34.96	£29.13
Metallic Mirror								
Stick-It ®	Mirror	Gold	25	120cm	£873.95	£728.29	£34.96	£29.13
Stick-It ®	Mirror	Silver	25	120cm	£873.95	£728.29	£34.96	£29.13
Stick-It ®	Mirror	Copper	25	120cm	£873.95	£728.29	£34.96	£29.13
Metallic Spanish								
Stick-It ®	Spanish	Gold	25	120cm	£501.95	£418.29	£20.08	£16.73
Stick-It ®	Spanish	Silver	25	120cm	£501.95	£418.29	£20.08	£16.73
-								